TER0E2AS EREASIRERE
(FR30EIA1HIRE)

AR A A ER
1 AORUHER E=)0eEr
X & 5 g4 B HHE
B A | - 16,099 + 15,317 31,416 11,645
5 A |[13 16,086 3 15,320 31,406 11,553
2 EEIfF
%4 55 AB = H31 BE
38
B A 52 70 i 17 i
i 32 Z
45 1
i H 58 65 > 2 2
= 20 = 1
19 1
i B 17 37 > 3 >
Z 18 z 2
L EGH > >
Z Z
FRMERT &L > >
Z Z
2 3 5
B HESHBR 4 4
£°q 1 Z
3 FER(BER)
%4 H5 AB = H21 =] =
9
H & 15 15 > i
£°8 6 Z
12
5 T 26 26 > i
= 14 g8
4 MIBEE
X5 5 9 HHEE —tHEH-UDAE
E= 7,536 6,910 5,792 2.72
AR 4137 4,091 2,736 WAOBLL
BHA 4413 4319 3,025 8 51.2%
=%11 16,086 15,320 11,553 z 48.8%




